direg

DIY Nightstand

By Tylynn M

Difficulty
Moderate

Build your own nightstand — complete with rebar accents for a fun rustic farmhouse twist. This nightstand has a large

drawer and bookshelf for maximum storage capacity.

Page 1 of 15



Tools

Kreg Tools

ﬂ i Kreg® Pocket-Hole Jig 720

T

Other Tools
Jigsaw

Miter Saw
Square

Tape Measure
Clamps

Drill (cordless)

Sander

Materials

Wood Products

1 Board , 2x2, 72"
3 Board, 2x4, 96"
1 Board, 1x6, 96"
1 Board,1x8,72"

1 Board , 1x10, 72"
1 Board , 1x12, 72"

2 Square Dowel, 1/2" Thick , 36"

Hardware & Supplies
6 1'Rebar Pieces @ 1/2" Diameter
1 Drawer Pull

2 Drawer Slides

Page 2 of 15

direg


https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html

Cut List & Parts

6

2

Frame ,2 X 4 @ 13"

Top Of Side Frame , 2 X 4 @ 14-1/2"
Legs,2 X 4 @ 29-1/4"

Bottom Of Side Frame , 2 X2 @ 14-1/2"
Bottom Shelf,1X 8 @ 13"

Top Shelf,1X6 @17"

Side Frame ,1X 12 @ 14-1/2"

Back,1X12 @ 13"

Page 3 of 15

direg



direg

Directions

Step 1.
Build the frame of the nightstand. Attach the frame pieces with 2-1/2" pocket holes and screws. Place pocket holes and

screws on the bottom side of the frame in order to hide them.

2-1/2" pocket holes and screws

2x4 cross piece is flush with
top of 2x4 leg

2-1/2" pocket holes and screws

11_1“

Page 4 of 15



direg

Step 2.
2 Add the cross pieces to the frame. Attach with 2-1/2" pocket holes and
screws. Position the 2x2s flush with the top of the legs. Position the 2x4s 4" from the bottom of the legs. Place pocket holes
and screws on the bottom
side of the frame in order to hide them. Next, add the back 1x12 of the

nightstand. Attach with 1-1/4" pocket holes and screws.

1-1/4" pocket holes and screws

2-1/2" pocket holes and screws
on bottom of 2x2s

Page 5 of 15



direg

Step 3.

First, add the middle 2x4 frame across the back of the nightstand. Position

the 2x4 flush with the 1x12 back of the nightstand. Attach with 2-1/2" pocket holes and screws from the bottom side. Next,
attach the 1x12 sides of the nightstand with 1-1/4" pocket holes and screws. Place pocket holes and screws on the inside of

the frame in order to hide them in the final design.

1-1/4" pocket holes and screws

Flush with the
back of nightstand.
2-1/2" pocket
holes and

SCrews

Page 6 of 15



direg

Step 4.
Drill holes for the rebar accents into the bottom side of the two lower 2x2

cross pieces. The holes are spaced 3-5/8" center-to-center.

3 5/8"

3 5/8"

Page 7 of 15



direg

Step 5.
Drill holes for the rebar accents into the top of the lower 2x4 frame cross

pieces. Again, the holes are spaced 3-5/8" center-to-center.

Page 8 of 15



direg

Step 6.

Once you have drilled the holes for the rebar accent, insert rebar into the 2x2 cross pieces. You may have to hammer the

rear down a bit since the
edges are rough and may be slightly wider than 1/2" in some places. You should now have three pieces of rebar sticking out
of each of your 2x2s. Position the 2x2 and rebar over the lower 2x4 cross pieces and insert into

place. Again, this may take some finagling to get the rebar and cross pieces into place. Once the 2x2s and rebar are in place,

attach the 2x2s to the frame with 2-1/4" pocket holes and screws.

Page 9 of 15



reg

—
———

&




direg

Step 7.
Add the bottom shelf (see steps for bottom shelf below). Attach to

the frame from the bottom with 1-1/4" pocket holes and screws.

1-1/4" pocket holes
and screws

Page 11 of 15



direg

Step 8.

Attach the front framing of your nightstand. Start with the front legs, then add the cross 2x4s. Check, check, recheck for
square.

Attach front frame the same as the back frame: 2-1/4" pocket holes and screws from the 2x2 and 2x4 cross pieces, 1-1/4"
pocket

holes and screws from the side 1x12s and bottom shelf.

Page 12 of 15



direg

Step 9.
Add the top shelf (see plans for top shelf below). Attach to the frame from the bottom with wood glue and 1-1/4" pocket

holes and screws.

Page 13 of 15



10

Top Shelf

To build the top shelf, attach four 1x6s from the bottom with wood glue and 1-1/4" pocket holes and screws.

Page 14 of 15

direg




12

direg

Bottom Shelf
To build the bottom shelf, attach two 1x8s from the bottom with wood glue

and 1-1/4" pocket holes and screws.

Drawer
To add the drawer to this nightstand, | used a tutorial from Build-Basic.com. You can find the tutorial at http:/build-

basic.com/build-a-basic-diy-drawer/#.WUAyeevythE.

To modify the dimensions to fit this nightstand: use a 1x10 for the drawer sides, 1/4" plywood for the base, and a 1x12 as the

drawer face.

All drawer hardware can be found at Home Depot.

Page 15 of 15



	DIY Nightstand
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Step 1.
	Step 2.
	Step 3.
	Step 4.
	Step 5.
	Step 6.
	Step 7.
	Step 8.
	Step 9.
	Top Shelf
	Bottom Shelf
	Drawer



